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DEPARTMENTAL EXAMINATIONS
- GENERAL EDUCATIONAL TEST OF THE S.S.1..C. STANDARD
' PAPER - I1 - GENERAL KNOWLEDGE |
(Without Books)

Maximum Time : 2.30 hours - ' - Maximum Marks : 100

IMPORTANT INSTRUCTIONS

- DESCRIPTIVE TYPE
dllfleuren elem well&@ b cuens elsnggnen

Read the following instructions carefully hefore beginning to answer the questions.
. dlemssEnss et waflss Qam_migh Wy SipssaT sifleyarsamer Selamons Ulg S&@LD. '

1. Answers in excess of the prescribed number of questions appearing at the end of the answer -
book will not be valued. : o o
cflenLsear @B Garer cramanlismsse odsors aipSuiimntear o ssreflar Qnfn

- odver. oifls araranfismaslarer el sdr wHLSEH GeiwliuLrg. ‘ :

L2 In case of doubt, English version is the final. S
cflaméaailer sEGaaSlmLnlear sude augelld Carhésiiul P eiammssGor Gmndwrearg.

SECTION A
u@E o

Note : ) Answer any SIX questions.
aaaGugib <n damssensE e ualssea;n.

(i1) All questions carry-equal marks.
eréveor ellamdsEnd F10 WHUGLETSET 2 e war.

(i)  Each answer should not exceed 100 words. - _
gaublairm sflamelpw 100 aurismss@nss Bamnod dlaLwalssab. _
(6 x4=24)
1. List out the parasitic adaptations of leach.

Sl sramiupib U Gare gL smar TSI

- 2. The aquatic animals live more in cold region why?

ger, @allt Qylgenisafier Sraump 2 uiflemhiger Sifsn aumpdlenpen?
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10.

11.

Pari needs 4 hours to compléte a work. His friend Yuvan needs 6 hours to complete

the same work. How long will it take to complete if they work together?

' 2@ Gameaw 4 wafl Gprsde umll Gaidprt. weer <G5 Geumarenw ‘6 waf Crrshle

Qewdlort arafler Qpeunid Gaibg ibs Ga.la)cnanu_l_& Qatig (piass arsseiar eantl CrrwmaEb?

Who discovered RH factor? Why was it named so?

RH smyerflows s fpgeu wmir? 2ig ge Seueumm enpsasiu@Elenmg) ?

~ List out the social evils eradicated by Brahmo Samaj.

Gy soTRssTd @EISEILLL Fupss SennseT Wirenau ?

Explain salient features of the constitution of India.

@fw sirflueablnler HApliy sampsamen flarsEs.

What is savings and investment?

G&Lﬂuq WwHRID (PSR eTempTed erettes?
Mention the factors that affect the climate.

areflepsvents LTEHEGD STrafsdr wrene ?

SECTION B
UGS b

~ Note : (1) Answer any SIX questions.

aramaiGugyih %gu eflaTnssEHaSE, aﬁlml_umﬂasasmm

(i1) All questions carry equal marks.
o aNeTTESE D F0 wﬁu@uma;m 2 GNLLIET.

| (6 x 6 = 36)
What is called homologous series? Give any three of its characteristics?
vy euflens erepred erénan? Ligeufans Cavmsellar ppery LaTys@TS DS,
How cancer cell is different from a noermal cell?
Ubm Gad srgmrerr Qeaaie Gmbs eaaurn Capu@dns ?
Rekha has 15 square colour papers of sizes 10 cm, 11 cm, 12 cm, 13 cm...... 24 cm.
How much area can be decorated with these colour papers?

CramelLid 10 Gg.8, 11 Qs.i8, 12 G&18, 13 Q&b ..... 24 Q&.8. eramp LES DeTaydrer 15 -
FHIT QUGG QUERTENTE STHshsdr o etarar. Qbs audTans sTHstismens Qsram® céaueTay
LTUeU L% S@BE&TES 1piguyb?
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12.

13.
. 14.

15,

. 16.

17,

18,

19.

20.

Changes in a life style is a risk factor for occurence of cardiovascular diseases. Can it
be motivated? If yes, suggest measures for prevention.

Bsw Cpmusd ghUL sTreeTb wrpsas wapGu BB Geng &fl Q&u_iu.J Shoyaet (ms.
What i is the contribution of Annie Besant to India’s freedom struggle?
@pdurelien dlPg@wn Curild dallQueed e Lrsally wrg ?
- Estimate the workdone by the league of N ation.
uererm. () shisgdlen uamisear LA NG S.

Differentiate between renewable and non-renewable resources.
HSILGEE 568 cuaTaISET LHNID LGNS sats wearhsdr-CaunuBsss.

SECTION C
. | uEH §
" Note: () Answer any FOUR questions.
' aealGueah prerng clanssenss allelwafssa)b.
(ii)  All questions carry equal marks.
adar elamss@sh s LHOILGTSET 2 ai_war.
(iii) - Each answer should not exﬁeed 250 words. .
Qe dameiipen 250 unidass@sé@ Wamod efe weflsaeb.
| | ' - (@x10=40)
Write the consequences of soil erosion and how will you prevent soil erosion?

waremilSemmed e ss smigw eflepareysdr wieneu? wamefleou Sefi  ereueumm

SHILULET?

P Q is a chord of length 8 cm to a circle of radius 5 cm. The tangents at P and Q
intersect at a point T. Find out the length of tangent TP.

5 @s.18. b erar e L s PQ syengy 8 Gs.15 Beraperar pram @b, P wppid Q oler

afiCu Qeogib Asr@Carpas T e qa’raﬂuﬁ]m spHédlpg eraflo TP eramp Qgr@ Caml e
Herh s,

Describe the legislative power of the Governor.
g @Espilen sl e flsrrasamer efleuf.

'Examine the geographical conditions favorable for.the cultivation of rice and wheat.
Qpe whmd G&ngmm uuﬁhﬂc«mgm@ gop yelulwd @pdadr umgﬁ] (D5

Explain the factors 1nﬂuencmg the rate of a reaction. |
@ demender dimar Caussms LTHEED a;rnysur_fﬂamerr elleTE@s.
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